#CE BT DI

1 Adogxr

AOESIYRLEE
ABFN604(19854F)

RN
AR

R 305 (20184F)

85% L

80 ~ 84|

75 ~ 79

N

RN

b

ANOEBECERI0EI0A1BIRAE) B A
B Bt % SEXARAODHEFE
JNRE: 10,707 4,969 5738
65l EAO 3,912 1,619 2293 y
. 365 32.6 40.0
(ReRkL %) ool 2601l [32.0] —
HE 4,848 [737,760] 12 —
— i AR 2.21 [2.43]
[ IRIF=ER 10 Q&
\
Ll o = 3 YN TR 8 %& \ “:S\‘
AOBRECERI0EIFEES B A \;g §
it BE_| &E §§ %
B 69 35 3 ° %g ; §
3E 165 86 79 \ N
AR (ADTF3D) 6.44 [7.03] 4 §‘§ \ %»
SEL-E (A O F5) 15.41 [11.67] %i ; §\
[ INIE=8E 2 &*
3EABIADDET _ _ 120 e
ERATE | FR225F | FER27E | FR30E é,,\‘v 5,9 é,:»‘” é,;o %,;@
= (20054F) | (20104F) [ (20154F) | (20184F) E A A S
0~ 143 2,063 1,627 1.391 1.260 :
15~641% 7.755 6.857 | 6007 | 5512 OO~ BIS~64E  OGSRELL
657% LI 3,006 3,379 3,786 3,912
2 BFFEREDOKT
A O BI85 R0 REE 3K _ _ B A
H A FLIRFETH (FHB) SRS B EHA R BEIR
BEAER HER - BTH | HH 1%k
fLEHT 69 7 0 0 2 0 35 14
[Z] [6.4] [10.1] [0.0] [0.0] [28.2] [0.0] [3.3] [1.3]
=R 12,582 1,133 21 9 251 36 7.446 2,929
[Z] [7.0] [9.0] [1.7] [0.7] [19.6] [2.9] [4.2] [1.6]

HAERAOT) EFER(HERX) . FLRET-HER (HEF)
SERE (HETXT) . BEET (A TX) | 1510 - B 4% (A O F*f)




EEHERHE R

25 20

15

$ﬁz;~ $ﬁzg£~ A EHHEEDKER BLRETROHER
11 30 _
#o B 2.01 1.72 AN ———
—ER 145 147 [ ]
ZLRSE TR (A Fx1) NN 7112
FE] 4.55 2.62 _
EEL—,E': 417 1.77 |3.00 2.00 1.00 0.00 o AT 000 200 400  6.00
D=8
BHBEBHEEDOKE LRETRDOHR
2.50 140 11.9
200 R ' 155 I :gg R
150 [ (Jme=e )eoaw)eee o= 8.0 / \
161 ot / \
1.00 . / \
40
0.50 E=TmEeRy {7 HT 20 af 9 Ei "i
0.00 L =58 0.0 - " - 0
H26 H27 H28 H29 H30 P - 4 H26 H27 H28 H29 H30 &
e E-EHERHEROHR -o--ZER | FEMRCEOHR
(B EF>)
35.0
30,0 Ko.a
25.0 / \
20.0
150 11.8 / \
10.0
50 L - —
00 Q 0. ‘ b
H26 H,27 H28 H29 H30 F ﬁ H26 H27 H28 H29 H30 &
3 DKL 8
FEEEETE A 0105 5 A0F~6ARICBITHEFEERETE
St Xl B4 Z AO105%
, 1384 754 =T B =Tk
B LY [151.8] [79.0] ol ] 209.6 2731 149.9
oL & = 8T.7 30.9 = 1705 2175 123.7
~ [gg.g] [g?.g]
W ) . . EAVT 5RO B
s katin [g?.;] [2 12 .2]
XBEEMW {9:3] [6_'81 BEREH - - -
e s I .- P R Y
i r . . ANA10Axt . . .
R [g.g] [%.g] =855 1,15615 1&62 4&&7)
= . . AB105 X%t . . .
& mE [1.7] [1.4]
EAVT 5RO B
BT B4R DY) (AR X EFn60EE T /v A O 2 )
[ IPIE=FER
FER I TR (EIES5ER ) T 1) OiEERT B=ER (&i4)
A R s %’rﬁﬁi I
v 1 5
‘ | &=
R\ DR N
MMM eSS g o o=t | |
A\\NNN IR NN\
1 " I
IT|Yy I S\




FEHABECEROFERER

250.0

200.0

150.0

100.0

50.0

M
=il sl

H27 H28 H29 H30

Bt Lfgo00
\ ]
—— T
\ z =% 000
- - - - apes o [\
Pe— ., . =4
T — — — - BnE &
P 0.0
H26 H27 H28 H29 H30 H26
2 15.0
/ \ —— 2% 3
// \\ FB 100
4 \ -t R |
4\\ \\ R =
> N =3 « ¥R | 50
~30 : P *
. . — o S0
i L E oo
H26 H27 H28 H29 H30

ZERDEFH100

HRE:

FEINA

FEEHTEYAR

FEFBET AOBREAERAGT 4
BHAMERERSIRICEOCAA, ARBRBREUHERI(HRE1A1H)

3
—tHAK=

Kb A
126

A

# ADataBoxI AO-HEDEHE | IR F10H1HIRE)

SMRIZEALEAARUVRTCHRITHZFEECSFRDEE

#ZDataBox! AO-tHENEIE IO AO

BHEATEREARBRICESAD, AOBERUHEFHRIOHETER



